	Summary of Proposals Rec	eived			Project:	West Klutina	Repave, Gutte	r & Sidewalk F	Replacement
	Bid Opening				Contract No.	1380 17-350-1714			
Date:	May 2, 2018 at 10:00am				Project No.				
Place:	Capital Facilities Conference Room			Prosser Dagg Construction Co LLC		Big Dipper Construction Inc		Harris Sand and Gravel, Inc	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
SCHEDU	LE A: Roadway Improvements								
A-1	Clearing and Grubbing	0	AC	\$20,000.00	\$0.00	\$10,000.00	\$0.00	\$102,000.00	\$0.00
A-2	Unusable Excavation	3290	CY	\$24.00	\$78,960.00	\$25.00	\$82,250.00	\$18.00	\$59,220.00
A-3	Type II-A Classified Fill & Backfill	2960	TON	\$25.00	\$74,000.00	\$27.00	\$79,920.00	\$15.50	\$45,880.00
A-4	Leveling Course	1430	TON	\$32.00	\$45,760.00	\$36.00	\$51,480.00	\$38.50	\$55,055.00
A-5	Trench Excavation and Backfill (various depth)	299	LF	\$75.00	\$22,425.00	\$75.00	\$22,425.00	\$61.00	\$18,239.00
A-6	Furnish Trench Backfill (Type II)	369	TON	\$3.00	\$1,107.00	\$50.00	\$18,450.00	\$16.00	\$5,904.00
<b>A-7</b>	Bedding Material (Class C)	115	TON	\$50.00	\$5,750.00	\$60.00	\$6,900.00	\$25.00	\$2,875.00
A-8	Remove Existing Sidewalk	1320	SY	\$10.00	\$13,200.00	\$50.00	\$66,000.00	\$4.60	\$6,072.00
A-9	Remove Existing Curb & Gutter	6330	LF	\$11.00	\$69,630.00	\$22.50	\$142,425.00	\$3.50	\$22,155.00
A-10	Remove Existing Pavement	13380	SY	\$2.00	\$26,760.00	\$10.00	\$133,800.00	\$4.00	\$53,520.00
A-11	Geotextile (Type A)	6830	SY	\$1.50	\$10,245.00	\$3.00	\$20,490.00	\$5.00	\$34,150.00
A-12	Storm Water Pollution Prevention Plan	1	LS	N/A	\$7,500.00	N/A	\$235,000.00	N/A	\$8,500.00
A-13	P.C.C. Curb & Gutter (All Types)	6330	LF	\$70.00	\$443,100.00	\$50.00	\$316,500.00	\$47.00	\$297,510.00
A-14	P.C.C. Sidewalk 4" Thick	1790	SY	\$115.00	\$205,850.00	\$95.00	\$170,050.00	\$125.50	\$224,645.00
A-15	P.C.C. Sidewalk 6" Thick	80	EA	\$115.00	\$9,200.00	\$110.00	\$8,800.00	\$174.00	\$13,920.00
A-16	P.C.C. Curb Ramp - 4" Thick	10	EA	\$2,900.00	\$29,000.00	\$1,800.00	\$18,000.00	\$7,500.00	\$75,000.00
A-17	P.C.C. Curb Ramp - 6" Thick	1	EA	\$2,900.00	\$2,900.00	\$2,500.00	\$2,500.00	\$7,275.00	\$7,275.00
A-18	A.C> Pavement (Class E)	1460	TON	\$240.00	\$350,400.00	\$225.00	\$328,500.00	\$138.00	\$201,480.00

Summary of Proposals Received				Project: West Klutina Repave, Gutter & Sidewalk Replacem					
	Bid Opening				Contract No.	1380 17-350-1714			
Date:	May 2, 2018 at 10:00am								
Place:	Capital Facilities Conference Room	ference Room		Prosser Dagg Construction Co LLC		Big Dipper Construction Inc		Harris Sand and Gravel, Inc	
<b>A-19</b>	Furnish and Install Pipe (12-inch Type S, CPEP)	300	LF	\$21.00	\$6,300.00	\$100.00	\$30,000.00	\$78.00	\$23,400.00
A-20	Construct Catch Basin	8	EA	\$3,400.00	\$27,200.00	\$4,500.00	\$36,000.00	\$3,560.00	\$28,480.00
A-21	Remove and Replace Catch Basin Inlet Frame	10	EA	\$3,000.00	\$30,000.00	\$2,000.00	\$20,000.00	\$724.00	\$7,240.00
A-22	Connect to Existing Storm Drain Manhole	7	EA	\$2,200.00	\$15,400.00	\$5,000.00	\$35,000.00	\$860.00	\$6,020.00
A-23	Abandon Catch Basin Lead	1	EA	\$1,300.00	\$1,300.00	\$4,769.00	\$4,769.00	\$575.00	\$575.00
A-24	Furnish and Install Fire Hydrant (Single Pumper)	6	EA	\$17,000.00	\$102,000.00	\$25,000.00	\$150,000.00	\$7,900.00	\$47,400.00
A-25	Reset Valve Box Sections Below Finished Grade	12	EA	\$8,800.00	\$105,600.00	\$1,500.00	\$18,000.00	\$230.00	\$2,760.00
A-26	Remove and Salvage Existing Fire Hydrant	5	EA	\$5,000.00	\$25,000.00	\$10,000.00	\$50,000.00	\$200.00	\$1,000.00
A-27	Construction Survey Measurement	1	LS	N/A	\$30,000.00	N/A	\$25,000.00	N/A	\$34,000.00
A-28	Adjust Manhole Ring	12	EA	\$500.00	\$6,000.00	\$1,500.00	\$18,000.00	\$900.00	\$10,800.00
A-29	Adjust Catch Basin to Finish Grade	6	EA	\$460.00	\$2,760.00	\$1,500.00	\$9,000.00	\$600.00	\$3,600.00
A-30	Remove Existing Catch Basin	2	EA	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00	\$770.00	\$1,540.00
A-31	Adjust Mainline Valve Box to Finish Grade	11	EA	\$500.00	\$5,500.00	\$1,500.00	\$16,500.00	\$570.00	\$6,270.00
A-32	Painted Traffic Markings	1	LS	N/A	\$10,000.00	N/A	\$11,000.00	N/A	\$10,213.00
A-33	Standard Signs	206	SF	\$100.00	\$20,600.00	\$200.00	\$41,200.00	\$145.00	\$29,870.00
A-34	Traffic Maintenance	1	LS	N/A	\$50,000.00	N/A	\$75,000.00	N/A	\$62,000.00
A-35	Temporary Access to Staging Area	1	LS	N/A	\$10,000.00	N/A	\$50,000.00	N/A	\$1.00
	Schedule A Bid Total:			\$1,848,447.00		\$2,300,959.00		\$1,406,569.00	

Page 3 of 4

,	Summary of Proposals Reco	Project: West Klutina Repave, Gutter & Sidewalk Rep							
Bid Opening				Contract No. 1380					
Date:	May 2, 2018 at 10:00am		Project No.			17-350-1714			
Place:	Capital Facilities Conference Room				Construction Co	Big Dipper Construction Inc		Harris Sand and Gravel, In	
CHEDU	ILE B: Illumination Improvements								
B-1	Trench and Backfill (2'W x 3.5"D)	3370	LF	10.00	\$33,700.00	\$19.00	64,030.00	\$14.00	47,180.00
B-2	Diven Pile Luminaire Pole Foundations	20	EA	1,500.00	\$30,000.00	\$1,900.00	38,000.00	\$2,100.00	42,000.00
B-3	Load Center Foundation (Type 1A)	1	EA	3,000.00	\$3,000.00	\$7,800.00	7,800.00	\$3,000.00	3,000.00
B-4	26-28 Ft. Fixed Base Luminaire Pole	20	EA	3,500.00	\$70,000.00	\$3,500.00	70,000.00	\$2,800.00	56,000.00
B-5	Luminaire Arm (8 - 18 Ft. Length)	33	EA	600.00	\$19,800.00	\$615.00	20,295.00	\$580.00	19,140.00
B-6	Steel Conduit (2 inch) GRC	3740	FT	10.00	\$37,400.00	\$8.50	31,790.00	\$10.50	39,270.00
B-7	Junction Box (Type IA)	29	EA	1,500.00	\$43,500.00	\$850.00	24,650.00	\$520.00	15,080.00
B-8	Junction Box (Type II)	1	EA	1,500.00	\$1,500.00	\$2,600.00	2,600.00	\$2,000.00	2,000.00
B-9	3 Conductor 8 AWG Type XHHW-2 Cable	3380	FT	6.00	\$20,280.00	\$9.00	30,420.00	\$5.40	18,252.00
B-10	Single-Meter Pad-Mount Load Center. Type 1A with Lighting Control	1	EA	10,000.00	\$10,000.00	\$5,400.00	5,400.00	\$5,000.00	5,000.00
B-11	Luminaire (40 LED, Medium, Type 2)	25	EA	500.00	\$12,500.00	\$650.00	16,250.00	\$720.00	18,000.00
B-12	Luminaire (60 LED, Medium, Type 2)	6	EA	500.00	\$3,000.00	\$750.00	4,500.00	\$830.00	4,980.00
B-13	Remove Luminaire Pole	22	EA	1,000.00	\$22,000.00	\$650.00	14,300.00	\$200.00	4,400.00
	Schedule B Bid Total:			\$306,680.00		\$330,035.00		\$274,302.00	

Page 4 of 4

•	Summary of Proposals Received	Project:	West Klutina Repave, Gutter & Sidewalk Replacement						
	Bid Opening	Contract No.	1380						
Date:	May 2, 2018 at 10:00am	Project No.	17-350-1714						
Place:	Capital Facilities Conference Room	Prosser Dagg Construction Co LLC	Big Dipper Construction Inc	Harris Sand and Gravel, Inc					
	Addendum(s) Acknowledged	✓	✓	✓					
	Bid Bond	✓	✓	✓					
	Alaska Business License	<b>✓</b>	✓	✓					
	Alaska Contractor License	✓	✓	✓					
	Total Schedule A Bid	\$1,848,447.00	\$2,300,959.00	\$1,406,569.00					
	Total Schedule B Bid	\$306,680.00	\$330,035.00	\$274,302.00					
	Total Schedule A and B Bid	\$2,155,127.00	\$2,630,994.00	\$1,680,871.00					
	Local bidder preference 10%								
	Total Adjusted Bid								
	The bid totals are subject to correction after the bids have been completely reviewed.								
	Totals have been reviewed								
	Totals have been corrected   ✓		Statf Bend Project Manager						